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il PART A: Vocabulary |
) Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. enm.a the correct chﬂjcean Your answer sheet. |

Ancient alchemists believed that it was possible to .......... lead into gold.
1) mingle 2) direct 3) transfer 4) transmute
Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move.
1) eventual 2) ambiguous 3) elaborate 4) objective
His election as President represented the .............. of his career.
1) summit 2) motivation 3) triangle 4) periphery
She found the job frustrating, and felt she wasn’t ......... anything there.
1} flourishing 2} accomplishing 3) evolving 4) satisfying
Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.
1) hegemony 2) preference 3) compromise 4) independence
He ..coneunna all of his success to his mother’s undying encouragement.
1) interprets 2) converts 3) attributes 4) results
You can .......... the flavor of most dishes with the careful use of herbs.
1) initiate 2) impress 3) precede 4) enhance
The pirate Blackbeard had a reputation for being a harsh, .......... man.
1) reliable 2) ruthless 3) perpetual 4) prevalent
Being a direct relative of the deceased, her claim to the estate was ............ :
1) prominent 2) profound 3) legitimate 4) reckless
10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1) domination 2) detection 3) conquest 4) toxicity

11-
12-
13-

14-
15-

| PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or
{l (4) best fits each sp: Then mark the correct choice on your answer sheet.

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
(12Z) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ....... some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

1) played the most widely 2) the most widely played

3) played most widely 4) the widely most played

1) has contributed 2) will be contributing

3) had contributed 4) will have contributed

1} to be taken 2) was taken 3) that taken 4) taken
1) which were 2) there were 3) they were 4) were
1} many millions 2) many of millions

3) many millions of 4) many million

i g0 Sl g 40 o 51 b )5 MDY g JLS1 9 ST
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| best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1

Seismology is the scientific study of earthquakes and the movement of waves through the
Earth. The field also includes studies of wvariants such as seaquakes, causes such
as volcanoes and plate tectonics in general, and offshoot phenomena such as tsunami.

Earthquakes (and other earth movements) produce different types of seismic waves. These
waves travel through rock, and provide an effective way to “see” events and structures deep in
the Earth,

One of the earliest important discoveries was that the center of the Earth is liquid. Pressure
waves pass through the core. Waves that shake side-to-side, requiring a rigid material, do not.

The process of mapping subsurface features is a specialty called seismography. Seismic
waves produced by explosions have been used to map salt domes and other oil-bearing rocks,
fanlts (cracks in deep rock). rock types, and long-buried giant meteor craters. For example,
Chicxulub, the meteor that is believed to have killed the dinosaurs, was localized to central
America by analyzing ejecta in the cretaceous boundary, and then physically proven to exist
using seismic maps from oil exploration.

Using seismic tomography with earthquake waves, the interior of the Earth has been
completely mapped to a resolution of several hundred kilometers. This process has enabled
scientists to identify convection cells, magma plumes and other large features of the inner
Earth.

Seismographs also effectively discover unusual, otherwise unobserved phenomena such as
large meteors striking uninhabited ocean, or underground nuclear tests. Ocean meteor strikes as
large as ten kilotons (of TNT, effective explosive force) have been reported.

In 2002, using high-resolution digital seismic records, some scientists have reported
discovering several point sources of seismic noise that enter the Earth, move through it in a
straight line at supersonic speeds, and then leave if. These anomalies may be dense dark matter,
magnetic monopoles or quantum black holes passing through the Earth.

The word “offshoot” in line 3 could best be replaced by -—----—-- ,

1) trivial 2) resultant 3) catastrophic 4) widespread
The focus of the second and third paragraph is on what aspect of seismic waves?
1) Where they can travel 2) The way they are produced

3) Their function 4) Their role in earthquake prediction
According to the passage, it is NOT true that -----=------ ;

1) seismology deals with plate tectonics as a subject of study

2) seismology first revealed the cause of the demise of dinosaurs

3)artificially produced waves are employed to map subsurface features

4) seismic waves produced by explosions can be used to locate oil-bearing rocks
Which of the following is listed as one feature of the inner earth?

1) Meteor craters 2) The cretaceous boundary

3) Convection cells 4) Quantum black holes

To which of the following does the author refer as abnormalities?

1) Ocean meteor strikes 2) Uninhabited oceans

3) Underground nuclear tests 4) Several point sources of seismic noise

MMQNUg)éM)'@Hu)UQhW‘s)b'ue}?T
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Passage 2

When plates collide or push against each other, regions called convergent plate margins form.
Along these margins, one plate is usually forced to dive below the other. As that plate dives, it
triggers the melting of the surrounding lithosphere and a region just below it known as the
asthenosphere. These pockets of molten crust rise behind the margin through the overlying
plate, creating curved chains of volcanoes known as arcs. This process is called subduction.

If one plate consists of oceanic crust and the other consists of continental crust, the denser
oceanic crust will dive below the continental crust. If both plates are oceanic crust, then either
may be subducted. If both are continental crust, subduction can continue for a while but will
eventually end because continental crust is not dense enough to be forced very far into the
upper mantle.

The results of this subduction process are readily visible on a map showing that 80 percent of
the world’s volcanoes rim the Pacific Ocean where plates are colliding against each other. The
subduction zone created by the collision of two oceanic plates—the Pacific plate and the
Philippine plate—can also create a trench. Such a trench resulted in the formation of the
deepest point on Earth, the Mariana Trench, which is estimated to be 11,033 m (36,198 fi)
below sea level.

The word “triggers” in line 3 could best be replaced by -------—- .

1) induces 2) expedites 3) facilitates 4) requires
What is the main rhetorical function of paragraph 1?

1) Definition 2) Funetion description

3) Classification 4) Process description

According to the passage, if the plates that collide are oceanic crust -——--—--,

1) both plates are subducted under continental crust

2) subduction continues for a while only

3) the denser crust would be deducted

4) it cannot be determined which one would go under the other
When the plates that collide are continental -----—-- .

1) subduction will come to a halt after some time

2) it is not clear why subduction eventually ends

3) the end result would be a trench

4) they are too dense to go very far into the upper mantle

The word “rim™ in line 12 is closest in meaning to -----——--,
1) surround 2) comprise 3) penetrate 4) form

Passage 3

On the other hand, when two continental plates collide, mountain building occurs. The
collision of the Indo-Australian plate with the Eurasian plate has produced the Himalayan
Mountains. This collision resulted in the highest point of Earth, Mount Everest, which is 8,850
m (29,035 ft) above sea level.

No very satisfactory account of the mechanism that caused the formation of the ocean basins
has yet been given. The traditional view supposes that the upper mantle of the earth behaves as
a liquid when it is subjected to small forces for long periods and that differences in temperature
under oceans and continents are sufficient to produce convection in the mantle of the earth with
rising convection currents under the mid-ocean ridges and sinking currents under the
continents. Theoretically, this convection would carry the continental plates along as though
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they were on a conveyor belt and would provide the forces needed to produce the split that
occurs along the ridge. This view may be correct: it has the advantage that the currents are
driven by temperature differences that themselves depend on the position of the continents.
Such a back-coupling, in which the position of the moving plate has an impact on the forces
that move jt, could produce complicated and varying motions.

On the other hand, the theory is implausible because convection does not normally occur
along lines, and it certainly does not occur along lines broken by frequent offsets or changes in
direction, as the ridge is. Also it is difficult to see how the theory applies to the plate between
the Mid-Atlantic Ridge and the ridge in the Indian Ocean. This plate is growing on both sides,
and since there is no intermediate trench, the two ridges must be moving apart. It would be odd
if the rising convection currents kept exact pace with them. An alternative theory is that the
sinking part of the plate, which is denser than the hotter surrounding mantle, pulls the rest of
the plate after it. Again it is difficult to see how this applies to the ridge in the South Atlantic,
where neither the African nor the American plate has a sinking part.

According to the traditional view of the origin of the ocean basins, differences in

temperature under oceans and continents --—---—---,
1) give rise to ocean trenches 2) can move the continental plates
3) create mid-ocean ridges 4) lead to small forces for long periods

The split that occurs along the ridge is due to --
1) the rising currents under certain mid-ocean ridges

2) a conveyer belt

3) the linear nature of the Mid-Atlantic Ridge

4) the forces caused by the convection which would carry the continental plates along
The word “it” in line 15 refers to —-——--,

1) impact 2) back-coupling 3) plate 4) force
According to the passage, the Mid-Atlantic Ridge and the Indian Ocean Ridge —-——
1) are two ridges that converge

2) are separated by a plate that is growing on both sides

3) are two phenomena whose creation can be explained through the traditional view

4) are the sinking part of the plate underlying them both

The alternative theory mentioned in the last paragraph ——-—-,

1) is flawed to some extent

2} can account for whatever the traditional view cannot explain

3) has to be accepted despite its problems

4) 15 a modified version of the traditional view
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